I\ Ik DILSE - 3LEF LR ||

SFM4E10A
I #|R (fM4E1A~9A)
1 LR (FEL) oRERER (BERH
(1) MRFELY (HH

SH4E18~9A AIEREALE | 18R (%) SH4FE18~9A8 AIERIEALE | R (%)
# 30, 113 +2, 113 +8 761 +108 +17
(2) ELLRORERR (HHD)
SM4FE1A~9A ATEREALE | R (%) SM4E1A~9H ATEREALE | BEREE (%)
BAZE 1,875 +254 +16 45 =J] -13
(> BEBHRBAZ) 191 =]l -1 17 +2 +13
BEESR 634 +/7 +14 6 -1 -14
R 56 -4 -1 0 -1 -100
el WA & - 438 +100 +30 7 +4 +133
BEHEE 6, 055 +1, 007 +20 133 +37 +39
Bmia S 1,044 +194 +23 30 +25 +500
BEEhsL 1,262 +114 +10 34 +16 +89
4IBE 257 +9 +4 16 +12 +300
1FIREERR 16 -8 -33
hslE 4,090 -50 -1 92 =7 -7
a8 &t 15, 711 +1, 701 +12 379 +70 +23
<ELLEREHBOBELL (1A~9A8) >
+140
+120
+100 —1
+80 7_
+60 -
+40 -
mj_? 7/ — u
w0 (V] — — [ ] 1 Zi
BAE | =Y emma | mE  f-biqE SERE | SR0bL | ®basy | LR | wmEk | B3E
OSM3F 52 15 7 1 3 96 5 18 4 24 99
O5M4F 45 17 6 0 7 133 30 34 16 16 92

2 RBEEH (AFEBEH) ORERERE (HE)

[M4FE1A~9A BIERHEALE | BB (%)
% T 4 +2 +100
E & 10 -1 -9
B S 428 +87 +26
£ 442 +88 +25




I HETRIOLFERLERR (FfN45FE1AHA~9A)

2L EFEZLFE

Br & | BEmeee el ek s | mmmal s oa| anmE| penso| srosn| F3IE | B ML |wHik
L) 24 +3 12 2 1 1 3 2 1 1 2
BB 1 -1 0
Finnfr BT 3] =0 0
=) 9 +6 2 1 1
FEEFREM 1 -1 1 1
AEEHT -2 0
BRRHET 44 +b| 34 1 1 10 3 3 15 1
5 AHT 10 -2 4 4
5 ith BT 171 =0 8 1 2 1 1 3
EEHT 47 +19|[ 24 2 1 1 6 1 12 1 1
=L 21 +b 14 5 2 2 1 1 1 3 1
FALLIET 5 +3 1 1
bl 23] +10f 11 2 1 1 1 1 4 1 1
F+ RHET 3 -2 3 3
7 EHT 18 +1 11 1 1 4 1 4 1
#TEAET 6 -2 3 1 1 1
BRERHET 4 -1 1 1
75 51| Fir BT 1 -1 1 1
EV i) 1 -1 0
7| SERET 3 +2 1 1
b LT 3 +3 2 1 1 1
= AHET 2 +1 1 1
K [ BT 2| =0 2 1 1 1
L Ui BT +0 0
£ &HT 5 +1 0
EEHET 21 +10 5 3 1 1
iZEHT 2 +2 1 1
SR BAHT 2| =0 1 1
BAR AHT 9 -2 8 1 1
RRFNET 4 +2 3 2 1
KERHET 3 -6 2 1 1 1
T 11 -8 6 6
{EN== A HT 17 +6] 11 9 1 1
ERHE 14 +] 6 1 3 1 1
FRAEHT 5 -1 1 1
RILHET 3 +1 0
(N 1 +0 0
/IMZHET 1] =0 0
SRAET 2 -2 0
B o Hi 7 11 +3 6 2 1 3
FafT 3 -5 2 2
IR ET 31 +2 19 1 1 17 1
A& LU ET 34 +1 13 1 1 1 4 1 1 5
BAAT 13 +6 3 1 1 1 1
Y T 3 -1 1 1
NIl 4 +1 0
DESL) -3 0
HimET 5 -5 1 1
Z AR KHET 2 -3 2 1 1
EEHfT 15 -5 9 1 1 2 4 1
fokET 171 +10) 13 4 o 3 1
ZARAKERHET 10 -3 2 2




o]
df

DHLEEILE
A | REL TR st | @Ak[ e |ammE|s| sens sl x| B3I | BE | HILE | e
=R RYRET 24 +8|| 18 1 14 2 1
= AR AT 14 1| 10 2 2 2 2 4
= AR RET 8 -1 3 1 2
=azmmm| 9| 0] 3 3
= AT 18 +1jf 10 4 1 3 1 1
fREHT 11 +5 9 1 1 1
FRARET 11 +2 3 2 1
EEiil 14] =0 6 1 3 1 1
A FHHET 4 +4 4 3 1
FSRHET 18] +10 5 1 1 2 1
A2 RITET 2 -1 0
R T 18] +11 8 1 2 3 1 1
AR W BT 5 -2 1 1 1
4 AHT 8 +5 4 1 1 2
Y AT 5 +1 2 1 1
| ST 1 +1 1 1
GIEL 1 -1 0
P FHHET 36 -2/ 23 1 1 14 2 5
BRHET 1 -1 1 1
Y& /N 1 BT 8] =0 3 2 1
UL 11 -3 4 1 1 1 1
FF<FHT -2 0
SFrRAT 2 +2 1 1 1
ARFHT -3 0
BRITHT 10 +1 3 1 1 2
XifEt £ R ORFEEIRGHEENHYFET

FIAEIRIT SRR EBARDO—IBZMALFEY !
SH4FE4RR 2 !

F T FRR A TRARIE

BB FthBh &

[ 2

TR ADOTHSFEORFHIFEREEHRI294T.
FH2FEOSHNroF65<igmMm ! !
FRFRR REEFZEL T AR LFELLS ! !

@R TEIO SRR - iR R

% ok k WFRF %k k *

R RO REEFERERIFR Tl 6 5 Ll EDE
F=E F18RLULDEDIHFDERS

% % *k FHBHEE * * *

BALED 2501 (EE7,000M, 1 0AXKBYNET)

@ HiEHELERE

@ D% 7= 1Z@DOBEEH IR X 7= B E BTG




m =
I MAZEERASEBOORLESE ($TN4E1A~9A)
s % | weR A _ER U AR

e | RE e T e T 56 e | BB e T 5 T 6
BET 21 +7 2 2 17 B o) H BT 2 -1 2
fEE T 4 -1 4|  |wafr 2 -3 2
RS AT 5 +0 5 SR AT 19 +3 19
I ET 11 +4 11 A L AT 20 +9 20
B % AT 1 +1 1 EAA 10 +7 10
REET 0 +0 s Ra AT 7 +6 7
R 17 +4 17 K LLIET 3 -2 3
& AHT 13 +0 1 12 SATEFET 0| =0
4 5thBT 13 +8 13 FEHHAT 10 +4 10
EEET 20 +1 1 19 — ARAKHET 3] =0 3
EEA 16 -8 16 EEIAT 4 +2 4
FARILET 2 +1 2 fRET 6 +3 1 5
st AT 9 +3 9 — ARAETAT 5 +5 1 4
£ KT 0 +0 = AR 3 -3 3
BT 8 -1 8 =R A RT 5 +3 5
FrBARET 0 -2 =AIRREAT 6 +1 6
BEAT 0 +0 =R AT 9] =0 9
75 3| AT AT 1 +1 1 = HRET 32|  +16 32
BB T T 0 -2 FEE ] 15 +8 15
S| SR 0 +0 FREAET 9 +2 1 8
A L) 4 -2 4| |ErFET 7 -1 1 6
= AHT 1 +0 1 A FAT 4 +3 4
K FE AT 3 +0 3 ST 8 -7 8
Ly T 1 +0 1 AERITET 4l +0 4
T3 3 -2 3 BUHAT 8 +4 8
EEET 2 +0 2| |#RusaEr 6 +2 1 5
shEET 1 -1 1 14 ABT 4 -5 4
EEL) 2 +0 2 Y8 R ET 2 -2 2
B ;A ARET 1 -1 1 1| ST 0 -2
A FNET 1 -1 1 RS T 1 +0 1
K EAT 6 +4 6|  |meaEr 13 +2 1 12
AT 5 +0 5 HAT 1 +1 1
HEFN:) 9 +6 9 817 1| BT 3 +1 1 2
SR ET 2 -1 2 JN )1 BT 9 +7 9
AT 0 -1 B7 3 HT 1 -1 1
RILET 1 +1 1 S4ERAT 3 +3 3
1t/ RHET 1 -1 1 AFEET 0| =0
INSZET 2 +2 2 3T 10 +5 10
ST 2 -1 2

ERDTAREHEBE 12818 () ~108 (5 N

GERER]
O BEnbs L REDRHM LR UHTEDREHR
OEEE DR EEERHDFALE UEEELF ORI
OBEENIE/IL—ILETDORE

2

OFWEbEE ZTEHRATRZE2RE (BF 71-2219 F4VviL( V)




